BER—ERRF)

R- 439 SmE%L: HEE
= 90kg

it (B1TE) 1% (13) aa
HAX 154cm X 274em X 76cm

R- 40 RE%: REZHFE
E=E 14kg

it (BRATE) & (1F) =
HA4X 38m X 73cm X 76cm

i = [IIR
=
. — bl

- 41 RBE4%: h5—Ry o X
g 9kg

#E(BITE) A (IE) =%
HAZX 29cm X 42cm X 89cm

il

K- 442 FBEZ: /MpRERS—R 3B
E= 1kg

#E(BITE) B (E) =4
HAZX 26cm X 18m X 27cm

- 443 SFB%&: MR —X 3%

N

BE kg
HE (BRATE) 1 (13) =
HA4X 23cm X 16cm X 22cm

K- 44 RmBA: 5IHLRYIR 2@

g 3kg

belo

2@
HE(RITE) 1 (1) =
HA4X 34cm X 260m X 18cm
17cm

e
|-




BER—ERRF)

K- 445 BB%A: Iy —X 3{E K- 446 @MmER: Iy —X 2@
5= kg B2 kg
HE (BRITE) 1 (18) B it (BITE) 1 (1) B
HAX 47cm X 34cm X 25cm HAX 44cm X 35cm X 17cm

K- 447 RB%: RET—R K- 448 @mB%A: Wy —X 3%
E-§- 4kg E= 3kg

HE (BRATE) 1% (1) B M (BRITE) 1 (13) B
HA4X 55cm X 4lcm X T74cm HAX 4lecm X 34cm X 65cm

K- 449 FB%: W vl D K- 450 MmEA: I —R 3SEX
5E 26kg BE 5kg
i (BTE) ) B HE(RITE) 1% (@) B
HA4X 50cm X 42cm X 60cm HAX 45cm X 50cm X 57cm




BER—ERRF)

F- 451 @mB%&: SURJ—NR&yk 3K K- 452 BEBE%A: DazZT7o—hk
E-§- 3kg E=E 1kg
it (B1TE) 1 (18) = it (RATE) & (1F) =
HA4X 3lem X 55m X 10icm HA4X 35cm X 42cm X 18cm

&

K- 453 RB%: DazZT7i—k F- 454 SB%: T )7 h—k
5= kg 5= 2kg

it (B1TE) 1 (18) S i (BITE) 1 (1g) =5
HA4X 35cm X 42cm X 18cm HA4X 36cm X 33cm X 90cm

&,

F- 455 FBL: TX UK —X R- 456 SBE4%: Iy )—4—X
E 14kg 5= 4kg

#E(RITE) OB =T #E(BITE) B (E) =2
HA4ZX 75cm X 42cm X 55cm HA4ZX 4lcm X 28m X 6lcm

[ g : g —




BER—ERRF)

K- 457 RHBE%: Fvl)—4—X K- 458 REBE%: Fyl)—7—R
s 3kg = 4kg
i (BTE) 1% (1@) aa HE(BITE) 1% (@) =
HA4X 39cm X 24cm X 50cm HA4X 35cm X 24cm X 55cm

K- 459 RB%: Fyvl)—r—X F- 460 ME%A: SRAFT AL
= Tkg 5= Tkg

i (BTE) -AC) S it (RITE) # (13) =s
HA4X 55cm X 28cm X 80cm HA4X 36cm X 46cm X 100cm

K- 461 mBH: J—73—KYIR K- 462 @mB%A: IR —X 3K
g2 1kg g 3kg

#E(RITE) OB =T #E(BRITE) ) =T
HA4ZX 30cm X 46ecm X 37cm HA4ZX 4lcm X 34cm X 69cm

S ——




BER—ERRF)

F- 463 MmE%: UL — A x- 464 WmEA: LA—4—2X
BEE 2kg BEE 5kg
it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 53cm X 38m X 20cm HAX 40cm X 3lcm X 67cm

F- 465 B4 KiE K- 466 SHBEL: KEE
E= 5kg g= 2kg
HE(EATE)  RR3E) s WERITE)  E3E) S
HA4X 30cm X 45cm X 30cm HAX 20cm X 40cm X 28cm

K- 467 @mB4A: SURU—N\RTYk F- 468 SB4%: AT YY
g= 1kg g= 3kg
f(ERAE)  E0E) e WEERTE) 3R =

HA4ZX 32ecm X 47cm X 79cm H44ZX 18m X 38m X 40cm




BER—ERRF)

- 469

E

mE %A

2kg
i (BTE)
39cm X

belo

HA4X

IR —X 3{E

118
1% (1@) =S

X
73cm 32cm 1@

K- 4710 @mBA: YT —X 2@
BEE ke g
HE(BITE) 1% (@) =1
HA4X 39cm X 73cm X 32cm 1@

F- 471 RE4%:
= 1kg
fiit (B1TE)

"j"rx 32cm X

Taqrkwyk 108

1 (18) B
32cm X  10cm

K- 472 mEB%A: IR — X
= 3kg
i (BITE) 1 (18) =s
"j"f7\ 64cm X 43cm X 23cm

2. {

K- 473

E

mB4:
2kg

HE (BRITE)

64cm X

felo

HA4X

IR — R

1 (@) S
40cm X 23cm

K- 4714 mB4% IR — R
= 2kg
HE(RITE) 1 (1) =
HALX 53cm X 39%cm X 23cm




BER—ERRF)

F- 475 @mBE%: UL — A K- 476 mBE®: FyU)—4H5—X
BEE kg BEE Tkg
it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4X 38m X 68m X 30cm HA4X 50cm X 27cm X 73cm

K- 477 FB%: RA)wINSvH K- 4718 RBE%: RAOUTYY
E= 2kg 5= 2kg
it (BRATE) 1 (18) S i (BITE) 1 (1g) =
HAX 16ecm X 27cm X 54cm HAX 20cm X 43cm X 43cm

F- 479 RBE%: ZHFE K- 480 RBE%: ZHFE
g= 1kg g= 1kg
fE(EATE) &) B fE(ERATE) () -

H X 40cm X 3lcm X 58cm HAX 34cm X 25cm X 42cm




BER—ERRF)

F- 481 SBE%: ZHFE
= 1kg
it (BRATE) 1 (18) aa
HA4X 3lem X 23cm X 40cm

K- 482 SE4&: CHFE
E=E 1kg

it (RATE) & (1F) =
HA4X 18cm X 2icm X 39cm

F- 483 REB4%: Sty 450

) Tkg
it (B1TE) 1 (1) S

HA4X 30cm X 45cm X 60cm

il

R- 484 RB4%: h5—Ryo X

2 5kg
it (RATE) 1 (1) =5

HAX 28cm X 44cm X 59cm’

il

K- 485 mB4A: AT —R 2

E=E kg B
it (BR1TE) 1 (13) =

HA4X 35cm X 26cm X 17cm11IEI

K- 486 @mBE%: WYF-F=-#T—TIL
g Tkg

it (BR1TE) 1 (1g) =)
HAZX 45cm X 70cm X 67cm

felo




BER—ERRF)

K- 487 FB%: HI—RYK K- 488 SE%A: H5—RvI R
BEE 5kg BEE 7kg

it (BRATE) 1 (18) = it (RATE) & (1F) =
HA4ZX 56cm X 18cm X 29cm HA4X 29cm X 38cm X 109cm

K- 489 @B4A: Ho—HRYIR K- 490 MmESA: EREL
5= 5kg 5= kg

it (B1TE) 1 (18) S i (BITE) 1 (1g) =
HA4X 29em X 45¢cm X 90cm HA4X 1lem X 22cm X 62cm

~
p *

A

K- 491 @mB4A: HYFLEHFFIT xR- 492 REBA: Nk
E=E 1kg 1kg

fE(BITE) (IR =T #E(BRITE) RO =2

HA4ZX 33em X 37cm X 63cm HA4ZX 26cm X 39%m X 26cm

/




a_BE
BAR—E(RAEFE)
F- 493 RB4%: ZAh F- 494 RB4%: Btbe
= 3kg E=E 1kg .
it (B1TE) 1 (18) B it (RATE) & (1g) =
HA4X 22cm X 22cm X 23cm HA4X 25cm X 3lcm X ficm;‘t,,é
K- 495 FHE%A: fY-1-H% F- 496 B4 FY-1-H%
E= 1kg Eg= kg
e (RATE) 1 (1)g) B e (R1TE) 1 (1g) a2
HAX 4om X 38m X 4om HA4ZX 4om X 38m X 4cm
S A LIRS pous I|’
x- 497 HEA: Ay Larno F- 498 GEB%A: JARLF
= 1kg Eg= 1kg
Mk (RITE) 1 (@) = M (Bm1TE) 1 (1g) =0
HA4X 28cm X 35cm X QCmﬁ HA4ZX 35ecm X 36ecm X 3cm
i o«
Ay
I




BER—ERRF)

F- 499 FB%: y::pa el K- 500 MBE%: HYE=-##BF 3H
by kg BE 2kg g
HE (BRITE) 1 (18) B it (BITE) 1 (12) =2
HALX 37cm X 37cm X 26cm HALX 25cm X 34cm X 37cm 1

®- 501 SE%: wREYS K- 502 SB4&: HUvTNUH—
g= 1kg g2 1kg
WERTE) 3R = WEERITE) A (E) E=
HA4X 9cm X 110ecm X 4cm HAX 34cm X 56cm X 3cm
\
o
| gy ¢
——8
% a8 * |
F- 503 SEBE4% BiER F- 504 SBE4%: RAYwINTvY
Eg= 9kg Eg= 1kg
HE(ERTE) 3R B& HE(ERFE) R E) =&
HA4ZX 31lcm X 35cm X 82cm HA4ZX 27cm X 30cm X 78cm




[ R -
BER—E(RESH)
K- 505 MB%: HrE —h K- 506 ME%A: BrES —bk
by kg BE kg
fit (B1TE) 1 (1F) B it (BRITE) 1 (1) =
HALX 100cm X 200cm X HAZX 100cm X 200cm X

H- 507 mB%&: Jviay K- 508 mE%: B
5= 1kg g= 1kg

it (B1TE) 1 (13) = it (BRATE) 1 (12) B

HAX 42cm X 4lcm X 6cm HAX 36cm X 127em X 2cm

)

K- 509 @mB%&: HSRREEEH K- 510 @EA: EfoI1F
5= 2kg EE kg

i (BTE) ) B HE(BITE) % (13) =
HA4X 18cm X 18m X 32cm HA4X 15cm X 15¢cm X 14cm




BER—ERRF)

x- 511 @B4%: REEAEDIX K- 512 @mBB: TINTFIT
BE=E 3kg = 1kg
i (BTE) 1% (1@) = HE(BITE) 1% (@) =
HA4X 28cm X 28cm X 17cm HAX 34cm X 33cm X 47cm

®- 513 FB4%: = K- 514 MmBEA: [EEZFFERF
E=E 1kg EE 11kg

it (B1TE) 1 (18) = i (BITE) 1 (1g) =5
HA4X 30cm X 34cm X 42cm HA4X 62cm X 70cm X 72cm

%- 515 RBE4%: —ERE %- 516 SB4%: —ERE
g= 4kg g= 4kg
WERTE)  #E3E) = WE(ERTE) (D) ==

HAZX 44cm X 40cm X 80cm HA4ZX 34cm X 40cm X 68cm




BER—ERRF)

%- 517 RB4%: RyELY K- 518 HBE%: HYFE=HAFI7 2H
= 2kg E=E ke g
#E(BITE) (IR =t #E(BITE) >R =4
HA4X Tecm X 25¢cm X 90cm HAX 43cm X 30cm X 88cm1m
R 4
®- 519 @mB4A: YA FI7 F- 520 SB4%: ATYXFI7T
g5 3kg 5= 2kg
e (RATE) 1 (h3) B it (B1TE) 1 (1g) a2
HA4X 37cm X 37cm X 68cm HAX 47cm X 20cm X T4cm
- @
%- 521 RB4&: HHYEA—FI7F R- 522 SB4%: E7 /AEF
g= Tkg 5= Skg
#E(EITE) (IR s #E(EITE)  HB(E) =&
HA4ZX 52cm X 40cm X 92cm HA4ZX 36cm X 36ecm X 45cm

e~
b

A




BER—ERRF)

F- 523 @mE%: BHET K- 524 @mE%A: B DA
by 13kg BE 4kg
HE (BRITE) 1 (18) = it (BITE) 1 (1) =
H X 100cm X 64cm X 88cm HA4X 56cm X 80cm X 89cm
K- 525 MB%: RE—/NF— K- 526 MmBE%A: kLA
by 4kg = kg
HE (BRATE) 1% (1) B HE(BRITE) 1 (13) =
HA4X 80cm X 40cm X 95cm HA4X 33cm X 43cm X 1cm
R- 527 @B%: =8 K- 528 ME%A: -1
BE kg = kg
HE (BRATE) ) B HE(BITE) 1 (1) =
HALX 14cm X 22cm X  104cm HA4X 12cm X 22cm X  143cm




BER—ERRF)

- 529

ES

HAX

mBA:
1kg
it (BRITE)

170cm X

1 (18)

170cm

INTYIL

X

=S

144cm

- 530

EE

HA4X

mBEA:
1kg
it (BR4TE)

170cm X

INTYIL
1 (1F) =Y
170cm X  154cm

K- 531 mE%A:
E= 2kg
fiit (B1TE)

HAL X 170em X

1% (18)

170cm

AV
=
X  210cm

K- 532

=

il

HA4X

mB%:

3kg

it (RITE)
48cm
44cm

21K

1 (18)
48cm
44cm

8
13cm
12cm

HA4X

2kg

HE (BRITE)
46cm
37cm

21K

1 (18)
46cm
37cm

=s
13cm
10cm

Y4

2kg
it (B1TE)
44cm X

TIRFvoMNT 2@

2@
1 (18)
47cm X

S

19¢cm

1@




BER—ERRF)

K- 535 @mB&: TIRFYHFIT
B 2kg

it (BRATE) 1 (1) a5
HA4X 58m X 55cm X 80cm

belo

K- 536 @mBE%L: Oy S5FI7
g 9kg

it (B1TE) & (18) =1
HA4X 59cm X 135em X 92cm

]

- 537 SE%:

=

of
B

4kg
HE(BRITE) 1 (18) =
"j"f7\ 26cm X 26cm X 26cm

il

K- 538 MBEA: YINI—F—\vY
5= 1kg

i (BITE) 1 (18) =s
HAX 24cm X 43cm X 30cm

%- 539 SmB4: /\UH— 20K
g= 1kg 21k
fE(BITE) (IR B3

HA4ZX 10cm X 45cm X 2scmé1$

K- 540 RBE%: 2 21K
g5 1kg T
f(ERFE)  RE0E) e

H4X 1em X 32cm X 44cm1*5(




[ R -
BER—E(RAEFE)
H- 541 B4 TEi#R F- 542 MmEBE%&: INEYY
AL
B8 2kg AHEAY 5 Ske
it (B1TE) 1 (18) a3 it (RATE) & (1F) =1
HA4X 18cm X 18m X 20cm HA4X 90cm X 360cm X
%- 543 RBE%: BFET K- 544 @EmBER: KH, /DMEILTUAH
5= 2kg FI—ift = 4kg
it (BRATE) 1 (1) B i (BITE) 1 (1g) =5
HA4X 10cm X 29cm X 27cm HA4X 42cm X 94cm X 5cm
F- 545 WmB&Z: HISAT—TII F- 546 HE%: VYI27tyk
= 32kg EE 45kg a6
it (BR1TE) 1 (13) = HE(BRITE) 1 (1g) =
HA4ZX 60cm X 125cm X 36cm HAZX 160cm X 187em X 57cm otk




